
N = 1729
1729 circles in a circle

radius =   0.022510754840
ratio  =  44.423210466409

density  = 0.876143230287
contacts = 3224

 E.SPECHT
22-APR-2014

N = 1730
1730 circles in a circle

radius =   0.022502849857
ratio  =  44.438815809946

density  = 0.876034375428
contacts = 3505

 E.SPECHT
22-APR-2014

N = 1731
1731 circles in a circle

radius =   0.022496249669
ratio  =  44.451853740124

density  = 0.876026642335
contacts = 4097

 E.SPECHT
19-APR-2014

N = 1732
1732 circles in a circle

radius =   0.022490047951
ratio  =  44.464111511586

density  = 0.876049508854
contacts = 3416

 E.SPECHT
20-APR-2014

N = 1733
1733 circles in a circle

radius =   0.022488398729
ratio  =  44.467372356978

density  = 0.876426758134
contacts = 3378

 E.SPECHT
20-APR-2014

N = 1734
1734 circles in a circle

radius =   0.022483958815
ratio  =  44.476153342390

density  = 0.876586252527
contacts = 3190

 E.SPECHT
20-APR-2014

N = 1735
1735 circles in a circle

radius =   0.022488900420
ratio  =  44.466380361176

density  = 0.877477364079
contacts = 3051

 E.SPECHT
06-AUG-2014

N = 1736
1736 circles in a circle

radius =   0.022480811860
ratio  =  44.482379293373

density  = 0.877351661708
contacts = 3318

 E.SPECHT
21-APR-2014

N = 1737
1737 circles in a circle

radius =   0.022476932629
ratio  =  44.490056383417

density  = 0.877554113226
contacts = 3813

 E.SPECHT
21-APR-2014

N = 1738
1738 circles in a circle

radius =   0.022472810968
ratio  =  44.498216151706

density  = 0.877737330629
contacts = 3586

 E.SPECHT
22-APR-2014

N = 1739
1739 circles in a circle

radius =   0.022469601207
ratio  =  44.504572679346

density  = 0.877991499453
contacts = 3976

 E.SPECHT
22-APR-2014

N = 1740
1740 circles in a circle

radius =   0.022465328793
ratio  =  44.513036475305

density  = 0.878162336146
contacts = 3815

 E.SPECHT
23-APR-2014


